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Subject : Mathematics

[ Qi : 75
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A1z : it T T ST
Naote : Attempt all questions.
T TR H AETEHD |

Graph paper is required.

A Frder

General Instruction :

: () FEFA S &M H A TR T

Use of calculator is not permitted.

(i) WA HHE 1 A dH wvs §)Eve () § aglasena v, T
() A faq g gy ag @S (7) F fisa A 1 R
e € | W T W 1 3% e R
Question No. 1 has three parts. In Part (A) Multiple choice
questions, in Pant (3) Match the following and in Part (C) Fill
in the blanks are given. Each question carrics | mark.

(ili) W wAiE 2 R/ 6 7 eIy W ¥ 1 WElE W W 2 I3
arfen € 1
Question Nos. 2 1o 6 are very short answer lype guestions.
Each question carrics 2 marks.

(iv) WA FHF 7R 10 T freeEaiy v § | TS WA W 3 36
smifea €1
Question Nos. 7 to 10 are very short answer lype questions,

Each question carries 3 marks.
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T (2]
(v) W FEF 11 ¥ 14 75 AYSTIT W € | WAF T H Hiafw
foea & | 7% W W 4 3f e €
Question Nos. 11 to 14 are short answer type questions. Each
question has an internal choice. Each question carries 4 marks.
(vi) W W 15 T 16 THITIE WA § | WS T o niafe fawe
¥ TS W W S 3t e €

Quecstion Nos. 15 and 16 are short answer type questions. Each
question has an internal choice. Each question carries 5 marks.

(vii) W BRI 17 €& 18 Eefaia v § 1 7 % v ¥ st fawey
? 1 vqF W W 6 30 aEifea ¥
Question Nos. 17 and 18 are long answer type questions. Each
question has an internal choice. Each question carries 6 marks.

-1 (Eve-31) W& fawey e fafag [1x5=5]

(Part-A) Choose and write the correct option : Ve

() 99 % o fag A 39 W fre vl Yand wtsh s et 22
(3 T 3N Fael o
(7 VM Fa@
(7)) @ 3R Fam 9

(D v Q= =l

ITow mimy tungents con be drawn on the circle from a point outside

the circle? http://www.cgboardonline.com
(a) One and only one

(b)) Two nnd only two
(c) Three and only three

(d) None of these
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SRt ) e

(i) ot w242 - 4x + 3 = 0 % HEil 1 o T :

(o -2
(@) --;-
(@ =
( -3

@ -3
1
() ~
© 3
3
(d) ~3
(ifi) TG P(x)=x* -3x—4 B LIF QM ;
(a0 1
(%) -2
(@) 2
() -l

The zeroes of the polynomial P(x)=x* —=3x~4 will be :
(@) 1

(b) -2

(c) 2

(d) -1
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(4]
(v)  1an(90°- 45°) 1 5 ¥ -

(1) 3',; (@) 1
(M A (DO
The value of tan(90°- 45°) will be :

(a) 7’; ) |
© i (d) 0

(v) wEfy am WyEm [ T s R G

_ L]
(37) fasT = oA (Hﬁ]

_ (. T \em
(3) o = faam \H_loo]

(7)) Maw =vevA | 1+ m]
. WY\

The formula to find the maturity amount in fixed deposit is :

Time
Rat
(a) Total amount = Principal amount [l+—l °)
Time
Rate
L . = ' {I
() Principal amount = Total amount (l o ]
. Rale
. . T
(¢) Total amount = Principal amount [l+—l““°)
Rate

Time
. . — l+
(d) Principal amount = Tolal amoul_l_l( Too
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wA-1  (@ve-w) 3feg wery ey

(Part-B) Match the following :
(A) (B)

() W@ X@5x+ 6y=7F @ H T evi (@ 12
Slope of line in the straight line 5x + 6y
=7 will be

(/) 2 EEE el F Sawel w1 AU
! wra yenedl A 7 ¥ e e ¥ (6) 4

The ratio of the arcas of two similar triangles
is to the ratio of their corresponding sides

[ 1x5=5]

(iii) 16 3R 8 1 FHRR AN ¥ () 3

The arithmetic mcan of 16 and 8 will be

(rv) et g &t SR faral 3 den o @ (d) = qE/equal™

The number of space diagonals of the

cuboid is
(v) g 0=60°%), A 1an20 T WA €M (€) _%
I 0 = 60° then the value of tan°0 will be
-1 (@ve-u) fem wr w5 i wifg [1x5=5]

(Part-C) Fill in the blanks :

(i) feTg a1 STIRAY WeA & W @l TEHFEd §
The combination of rational and irrational number is called
number.

(#) 18 q91 6 T EATIIA u

The third proportional of 18 and 6 will be ;
(ifi) afz fret farg & fadwiw (0, 5) @, M T forg 1% W fewa ¥m)
If the co-ordinate of any point is (0, 5), then this point will exist

on the axis.
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(iv) mm#wmﬁﬂmmmﬂmmmtﬂ_

FEena E

i jved from all
ed on a person’s income reccive

The tax which is levi

sources is called

v) qﬂﬂﬂﬁﬁ#mmmmmaﬁaﬂﬂm aokd

Angle subtended by the diameter of a circle at a point on the

circumferenceis ______ .

-2 AR (x+3):27:1:3 §, Ax AR T@ R ' (2]
If (x+3):27::1:3, then find the value of x.

wR-3 e sl @ witre wm wifa (2]
45, 41, 43, 38, 40, 42, 44
Find the median of the following data :
45, 41, 43, 38, 40, 42, 44

WH-4  sin215° + sin275° %1 WA F S 2

Find the value of sin?15° + sin?75°.

wA-5 G @ fag (8, 5) (10, 6) ¥ O Wt ®, N IW W& W WA @
B 2]

A line passes through the points (8, 5) and (10, 6), then find the slope

of the line. http://www.cgboardonline.com

W¥-6 'ﬂﬂmﬂl'ﬂﬁm'ﬂﬂﬁﬂ: x2-0x=0 12)

Solve the quadratic equation ; x2 —9x =0

w7 fas W R 6n + 13 T e e ¥, el 0w ot €

Prove that 62 + 13 is an odd integer, where n is an integer.

131
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Wyi-8

w¥i-10

w9i-11

W1-12

b

(7]
afk (x=1), FERW Px) = 2 + kx + 2 W rEYE ¢, A kW WA @
Hifrg (3]

Find the value of £ if (x~1) is a factor of the polynomial
Px)=x2+jx+2

T FAH dx2—x + 1 =0 ¥ 76l ) THf 1 o 3]
Find the nature of roos of the quadralic cquation 4x2 — x+1=0,
10 . = S A F1 Wl 7S W AT W gy 3]

Find the (otal surfacc arca of a hemisphere of diameter 10 cm.

mmqfauﬂmmaﬁwwtmmaawﬁaﬁﬁﬁ_
ﬁqﬁqﬁwuﬁﬁzmgquﬁma\wmnﬁ ISt
T &1 quE ¥ fanaifora et € [4)

Prove thal if we draw a line which js parallel to any one side of a triangle
and intersects the other two sides at different points, then this line divides
these nwo sides in the same ratio.

Huar/OR

A PAB T9 ) 9% W@ ), g9 A 4 3l B 9=z Fat ® oik T

T Yaravs §, @ fow B RE 24 5 pe = P12

If PAB is a secant 10 a cirele which intersects the cirele at A and B, and PT

is a tangent 10 the circle, then prove that P4 x PB = pT2.

xq yH T WY TR R W g (), fasl (0, 1) (3,5
TG B | 4]

Find the relation between x and y such that point (x, y) is cquidistant from

the points (7, 1) and (3, 5).
AT/ OR

x % fafv= 7Fl & 10 2 1 90 70 6 x 3l 2 ¥ wRi % 9w o
difau| x 1 94,4 Q +4 Yiie deand #).
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WT-13

wvA-14

(8]

{Terent values of x and draw 2 graph betwecen x

Find the value of x2 for di

. cen —4 and +4.
and x2. The values of x are int€ger numbers betw
& FiPg fau M
Wmmw#ﬁ-ﬁﬁ(mﬁm*w "
¥  SilwE] T A T T :
T fie. & 30-40 | 40-s0 | so-60 | 60-70 | 70-80
Rrenfviat =t wre n | 29 | 6 3 :
Data of weight of young and old groups of children (students) of a senior
secondary school is given below. Find the mean of the data :
Weight in kg 3040 | 40-50 | 50-60 | 60-70 70-80
Number of studcnts 1 29 6 3 1
rear
OR
- fEauiy srieia finde fell F aga @ fzamil oo fog o e fadel +it
e ¥ Siwe afem #§ feg T ¥ 1 [ Aiwgi w1 ages @ e ;
et =t e 0-50 | 50-100 | 100-150 | 150-200 | 200-250 | 250-300
Tigaral W wemn 4 5 16 12 3 2
Wickets taken by many bowlers in international one-day cricket matches
are given in the table. Find the mode ol the data :
Nos. of Wickets 0-50 | S0-100 | 100-150 | 150-200 | 200-250 | 250-300
Nos. of Bowlers 4 5 16 12 3 2
14§, S99 9o F WHYS W aEwel 88 T A, ¥ ) e W e

Area of curved surfuce of cylinder, whose height is 14 cm, is 88 square
cm. Find the volume of the cylinder.

Haqr
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U¥i-15

W1-16

(9]
ﬂfkﬂwﬂviartmm WARE 77n Tf Ao, ? 91 3 s = =
14 4. ), TS IW ¥iF ! F9E 7@ Few)

If the curved surface area of a cone is 77r square cm and diameter of its
base is 14 cm, then find the height of the conc.

AABC % ity =} Ta #re, 6T 48 = 8 A, BC=5¥. 3t 24BC
=60° % | 5 ¥ vz Wt farfa

Construct a circumcircle of AABC, where AB

(51

=8cm, BC=5cm and

ZABC = 60°. Wrile the steps of construction.

Construct a APOR in which OR=6cm, PO =5 ¢m and £ZPQR = 60",

9
Also construct a AABC in which AB = ? PQ .

fareirg =d 2013—2014ﬁwmm1ﬂaﬂmmﬁﬁm 4,10,000 ¥, #t |
IEA 24,000 T, sitert 4 aifert @ wnffe sifiram ¥, 4,000 %, Wi W
yfee fafy § & 25,000 %. mu@umwuﬂﬂﬁmm%mﬁm
a9dl TG F g d@m w@ v v ¢, @ 2 SR 1 UM Hifeg )

AT H1 T Frergem §

. &Y g i AAHT WY X
I. [2,00,000 %, & AN R
2. [2,00,001 % 9 5,00,000 F. T 10%
3. [5,00,001 % 8 10,00,000 %, 7 20%

T aifaftad, 39 TSt H 3% e I AT e |
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[10)

- 2 ; 2013-2014 was
Tiehommeoln presmss S0 st ?won lifc insurance
Rs. 4,10,000. She deposited Rs. 24,000 as yearly premium

i he also
policy, Rs. 4,000 cvery month in General Provident Fum;fand s ol
e . If a maxim
purchased a national savings certificate worth Rs. 2.5,05:(; pr———
of Rs. one lakh can be invested in any type of saving

; line.com
rebate, then calculate the payable tax. http:f!www-cgbo‘"do“ K

The rates of tax are as follows :

S. No. Tax Limits Rate of Tax
. |UptoRs. 2.00,000 NIL
2. |Rs. 2,00,001 to Rs. 5,00,000 10%
3. |Rs. 5.00.001 to Rs. 10,00,000 20%

In \ddilitm, a 3% cducation cess has to be paid over the income tax.

) raar
OR

y
- g A forem weT) &% 3 100 T, Wfwe F 10 79 F ferg A s @

g | afe sty afteasma ¥R WS 3w g =™ 9 fd 3,025 . WeR &
e €, o = 9 2 fwe witea wfds it ?

Padmani opened a recurring deposit account in district cooperative bank
for 10 years and her monthly installment is Rs. 100, Ifon maturity she gets
Rs. 3,025 as inlerest, then what is the rate ol interest per annum?

frmfdg e g afon . o080, cos@

cosecO+1 cosecO-1 -

Solve the trigonometric equation ; —<08 ___ cos0 =9
cosecO+1 cosecO-1

eqr

16
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T Wt Wew uw o & R 7 It &) v ¥ e WA O e O
R 30° F a7 F0 R @ § | FR ¥ F IR B AN AR 9@ H
<l & 130 . wert % =R FR H ST P01 60° 9 T X, N 9 H TR
Einedis e

A straight road goes straight up till the base of the building. A man on
the top of the building sees a car at 30° angle of depression. The car is
moving towards the building at a uniform speed. A fter the car has covered
a distance of 30 meters, the angle of depression becomes 60°. Then find

the height of the building.
afg a, b, c FoFE T ¥t & waw: pd, g8 MM AARE, 3 fog Ffe fF

a(q—r)+b(r-p)+C(P-q)=0

If, o', g and ' terms of an arithmetic progression are g, b, c respectively,

then prove that

(6]
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